298.00 |

- |

GEOOOOOOOOOOO_gOOOOO@OCDOOCD S

©6 690 50 (), , (0)oo ©° °0 8
356.93
352.72
342.81
oo
o | o
304.10 (Acti ©
| .10 (Active Area) | o
[—L o
()pe
[
— ®
8 o
<
g — o~ ™ ®
2 ® N @ o
g z 52 0
< & R & I
= @®
b
g .
o b
©
e
o |
3 I
o
D
~ ‘J Tolerance Table
Dimension Range | Tolerance (mm)
° 3.00 —= |s— 49.50 —]
o . Under 25 mm 0.1
e - - - - o fe— 52.50 —= -
] 8 ee oo °° (o) (c)%° o0 00 8 123611 lzg%nnl'; 8‘2}
O o@p > - El C)‘!/J 250.1 - 400 mm 0.8
— 400.1 - 500 mm 1.5
500.1 - 630 mm 2.0
630.1 - 800 mm 2.5
"R sl rrorryor s e l Toucr, 1400 BRIDGE PARKWAY, SUITE 102
DOGUMENTS, OR USED FOR MANUFACTURING OR TR 15" Open Frame Touch Monitor
ANY OTHER PURPOSE EXCEPT AS AUTHORIZED .
BY TPK Ush, LLC Overview Geometry
UNL;I;SOOLTEER&'I!EQEEHED br: MPB Jex: Material: scale:  NTS
ALL DIMS ARE mm . :
01-a 1/3/2011 Initial Release MPB mows soss T lD/\SG/ZN?H SHE\E,TERI OF 2
ANGLES +0.5° N . .
REV DATE DESCRIPTION BY DO NOT SCALE DRAWING K15A-0XXX-XX-X-01-a 01 THED ANGLE VR

1



RECOMMENDED CUSTOMER PANEL CUT-OUT

122.46

112.00

122.46

8 o6 o6 °°

90 69 606 8

Q500000 ®00000 [oNeloN N N N-N.X-N.-N.R-K J
365.93
- < A - ard < rd
182.96
’w 72.00 —=te— 72.00 4‘
- 1370 140.96 75.00 140.96
s 3 M o ® o ® e )
| RS Tel] =T .
| q]0 {
qle <
3 > O
| © © ] x
L | 4 3 /o F g L =
l— 10.5 : g
T . (Hho .
| 8 ® \D %
| IN g ® + + Qo @®
& B | l ° S ° ° ©
g © 4 ~
g g | °o t I . 1 3
| ® | VESA 2
| S : ol ° MOUNT 0 o =~
| R .
~ (. p .
| . . h
_4';_ | _¢_ - [ + o 7
' | ' ° § n C
| € — vi ® un:rmz_ s &
n
I & @oooooo| cocoooo | &
| ‘ O 0 00 OO O 0O O 0 0O
\ | e 4 S ) ® )
' 4X - R4.29
10.56
344.81 Tolerance Table
Dimension Range |Tolerance (mm)
Under 25 mm 0.1
1. Wooden wall: @4.5mm thru holes for M4 screws w/nuts, The distance between the back cover surface 25.1 - 100 mm 0.2
or no thru holes, screws for wood 4mm. and the bottom of the screw hole is 8 mm. 100.1 -250 mm 0.4
2. Sheet metal: concealed head threaded studs M4 w/nuts. Please use four M4 screws with the proper length 250.1 - 400 mm 0.8
3. Only two brackets are necessary for mounting. Drill 4 holes to mount the monitor if you are not using the 400.1 - 500 mm 1.5
for t ttom bracket mounting or side bracket mounting. included mounting brackets and M4x6 screws.
or top/bottom bra ounting or side bra ounting uded mounting bra and 6 500.1 - 630 mm 2.0
630.1 - 800 mm 2.5
"R sl rrorryor s e -n Tnucr, 1400 BRIDGE PARKWAY, SULTE 102
Revoiution REDWOOD CITY, A 94065 - U
DOGUMENTS, OR USED FOR MANUFACTURING OR TR 15" Open Frame Touch Monitor
ANY OTHER PURPOSE EXCEPT AS AUTHORIZED .
BY TPK Ush, LLC Mounting Geometry
UNL;I;SOCI)-TEE%\V'[!EQ\EIEHED br: MPB |CK: Material: SCALE: NTS
ALL DIMS ARE mm . o
01-a 1/3/2011 Initial Release MPB RADIUS +0.15 PATE: lD/\SG/ZN?H SHE\E/LRZ OF 2
ANGLES +0.5° N " :
REV DATE DESCRIPTION BY DO NOT SCALE DRAWING K15A-0XXX-XX-X-01-a 01 9 ANQEW

1




